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OBJECTIVE TYPE (1 Mark)
Q.1. | The coordinates of the point Q are (2, 5). Its distance from the Y-axis is units.
A 2 B 5 C 7 D 3
Q.2. | A rational number between 2 and v/3'is
A V2+43 B V2 xy3 C 1.5 D|18
2 2
Q.3. The value of 1.999....in the form g, where p and q are integers and g+ 0 is
A 19 B 1999 C 2 D 1
10 1000 9
Q.4. | Rationalizing factor of (1 + V2 ++3) is
A 2 B| 1++v2-v3 |C 4 D| 1++V2++3
-1
Q-5. | The value of 7297
A : B -1 c ! D -1
3 6
e he val f dbif bV15 V5+v3
The value of aand b if a + 15=——""+—=
V-3
A a=1, b=4 B |a=2, b=1 C a=1, b=2 D a=4, b=1
Q.7. | How many linear equations in x and y can be satisfled by x =1 andy = 2
A One B Two C | Infinitely many | D Ten
Q.8. | In the given figure, if [ || m, then the value of x is
t
.
55
-+ A - IT1
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A 35° B 40° C 85° D 95°
Q.9. The angles of a triangle are in the ratio 3:4:5. The largest angle of the triangle is

A 75° B 60° C 45° D 90°
Q.10 | The angle which is half its supplement is

A 60° B 120° C 110° D 130°
Q.11 | In the given figure,ACL1BD. Find y if ZBAC = 40° and £BED = 100°

A
E
oo
N
B rc D

A 30° B | 60° C | 80° D | 45°
Q.12 | In the isosceles triangle ABC, if AB = AC and 24 = 40°, then find the measure of B

A 40° B 75° C 70° D 140°
Q.13 | If AABC = APQR, and AABC % ARPQ, then which of the following is not true?

A BC = PQ B AC = PR C AB = PQ D QR =BC
Q.14 | In the given figure, BE = CF then,

B C

A AABE = AACF B | AABE = AAFC | C AABE = ACAF | D | AAEB = AACF

Q.15 | The equal sides of an isosceles triangle are 12 cm and its perimeter is 30 cm. The area of

the triangle is

A

915 sq.cm

6V15 sg.cm

C

3v/15 sg.cm

D

V15 sg.cm
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Q.16

CASE STUDY-1

Rain water harvesting system is a technology that collects and stores rainwater for human
use. Amal decided to do rainwater harvesting. He collected rainwater in the underground

tank at the rate 30 cubic.cm per second.

<,

R

]

Based on above information answer any four questions:

i) What will be the equation formed if volume of water collected in x seconds is
taken as y cm3 ?

A 30x =y B | X =30y C|30—-x=y D |30+y=x
i) What is the type of solution of the equation formed?

A | A unique solution B Only_two C | No solution D Inflnlltely many

solutions solutions

iii) Write the equation in standard form.

A 30x —y +0=0 B | 30x +y +0 =0 C | 30x =y D|30x-y=0
iv) How much water will be collected in 60 sec?

A 1500cm? B | 2cm? C | 1800cm? D | 1cm3
V) How much time will it take to collect water in 900 cm?3 ?

A 20 sec B | 50 sec C | 40 sec D | 30 sec
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Q.17

CASE STUDY 2:

Students of a school are standing in rows and columns in their playground for a drill
practice. A, B, C, D are the position of four students as shown in the figure.

10

: o

8

7

6

5 *x (3
4

3

2

1 2 3 4 5 6 7 8 9 10 11 12

?m

Based on above information answer the following questions:

13

i) What are the coordinates of A and B respectively?

A (3,5) (7,8) B (5,3) (8,7) C (3,5) (7,9 D (5,3) (9,7)
i) What are the coordinates of C and D respectively?

A (11,5) (7,1) B (5,11) (1,7) C (5,11) (7,1) D| (511)(-17)
iii) What is the distance between B and D?

A 5 units B | 14 units C | 8 units D | 10 units
iv)  What is the distance between A and C?

A 5 units B | 14 units C | 8 units D | 10 units
V) What are the coordinates of the point of intersection of AC and BD?

A (7,5) B (5,7) C (7,7) D (5,5)
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Q18.

CASE STUDY 3:

According to a data, around one and a half lakh persons die due to road accident per year in
India. According to a research, mostly accidents occur due to ignorance of traffic rules.

To spread awareness about traffic rules, Delhi Public school initiated a step in this matter
and provided all schools of Delhi the traffic signal board, indicating "SCHOOL AHEAD" is an
equilateral triangle with side ‘a”. Answer any four questions:

i) If the perimeter of the triangle is 180 cm, then find the side of the triangle.

A 40 cm B | 50 cm C |60 cm D |70cm
i) Find the value of semi perimeter ‘'s".
A 70 cm B | 80cm C |90 cm D | 100 cm
iii) If a, b, c are the sides of a triangle, then write the formula to find the perimeter.
A 2s=a+b+c B|3s=a+b+c |C|s=a+b+cC D|4s=a+b+cC
iv) Find the area of the signal board in the above figure.
A 300v3 cm? B | 600v3 cm? C [ 900v3 cm? D | 800 cm?
V) Which message is provided by the above question?
Aoy B[l ot o e
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Q109.

Sal jains simplification of ——
dlMma explains simplification o
g g V5+3

CASE STUDY 4:

Two classmates Salma and Anil simplified two different expressions during the revision hour
and explained to each other their simplifications.

simplifications of (/5 + v/3) (¥'5 — v/3) using the identity (a + b) (a — b).
Answer any four questions:

by rationalizing the denominator and Anil explains

i) What is the conjugate of (/5 + v/3)?

A (V5 ++3) B | (v5-+3) C | (/5 x+3) D | (V5 ++3)
) - . V2
ii) By rationalizing the denominator of 53 Salma got the answer:

A ¢£f;§ B Vi(J;‘VG) C V5 -3 v Vﬁ(Ji+V§)
i) Anil applied identity to solve (V5 ++/3) (V5 —/3)

Al (a+b)(a+b) B|(@a+b)(a-b) |C |(a-b)(a-Db) D | (x+a)(x+Db)
iv) (V2+V3)(V2-V3)=___

Al -1 B |1 C |5 D -5
V) Addition of two irrational nhumbers is

A Rational B | Irrational C | Integers D | Whole numbers
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Q20. | Assertion (A): A number N when divided by 15 gives the remainder 2. Then the remainder
is same when N is divided by 5.
Reason (R): /3 is an irrational number.
. Both Aand R is
Both .A and R is true, true, R is not Ais true but R is A is false but R
A R is the correct .
: the correct false is true
explanation of A :
explanation of A
Q21. | Assertion (A): The point (0,4) lies on Y-axis
Reason (R): The x-co-ordinate on the point on Y-axis is zero.
. Both Aand R is
Both .A and R is true, true, R is not Ais true butR is A is false but R
A R is the correct .
: the correct false is true
explanation of A :
explanation of A
Q22. | Assertion (A): If angles ‘a’ and ‘b’ form a linear pair of angles and a = 40°, then b = 150°

Reason (R): Sum of linear pair of angles is always 180°

Both A and R is true,
A R is the correct
explanation of A

Both Aand R is
true, R is not
the correct
explanation of A

Ais true but R is
false

A is false but R
is true
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Q23.

Age of father is seven years more than three times the present age of the son. The above
statement can be expressed in a linear equation as

A x—=3y—-7=0 B| x+3y+7=0 |C| x+3y—-7=0 |[D| x—3y+7=0
Q24. | Find the value of x if AOB is a straight line
A B | 60° C | 30° D | 35°
Q25. | In the given figure, if lines | and m are parallel, then the value of x is
{ m
65°
208
A 65° B | 85° C | 45° D | 20°
Q26. | In AABC, if AB = AC and BD = DC, then 2£ADC is
A 60° B | 45° C | 120° D | 90°
Q27. | In the given figure, ABL BE = and EFL BE. Also, BC= DE and AB= EF. Then
A E
g C D E
A AABD = AFEC B | AABD = AEFC C | AABD = ACMD D | AABD = ACEF
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Q28.

The base of a right triangle is 8 cm and hypotenuse is 10 cm. its area will be

A 24 sg.cm B | 40 sgq.cm C | 48 sq.cm D | 80 sg.cm
Q29. | V10 x V15) is equal to:

A 65 B |5V6 C | V25 D 10V5
Q30. | Ordinate of all the points on the x-axis is:

A 0 B |1 C | -1 D | Any number
Q31. | If (2,0) is a solution of the linear equation, 2x+3y = k, then the value of k is:

A 4 B |6 C |5 D |2
Q32. | An exterior angle of a triangle is 105° and its two interior opposite angles are equal. Each of

these equal angles is:

A 37 B |52=° c | 725 D |75

2 2 2

Q33. | Find the area of a triangle whose base is 4cm and altitude is 6cm.

A 24cm? B | 48cm? C | 12cm? D | 10cm?
Q34. | If the area of an equilateral triangle is 16+/3 cm?, then the perimeter of the triangle is:

A 48cm B | 24cm C | 12cm D | 36cm
Q35. | If one angle of a triangle is equal to the sum of the other two angles, then the triangle is :

A | An isosceles triangle | B f;?aﬁgltgse C S?aﬁgllglateral D tArigrg]ngté?ngle
Q36. | The sides of a triangle are 56cm, 60cm and 52 cm long. Then the area of the triangle is:

A 1322cm? B | 1311cm? C | 1344cm? D | 1392cm?
Q37 | value of Wis:

A 13 B 1§ C|9 D %
Q38. | If one of the angles of a triangle is 130°, then the angle between the bisectors of the other

two angles can be:

A 50° B | 65° C | 145° D | 155°
Q39. | The equation x=7 in two variables can be written as

A 1x+1l.y=7 B|1x+0.y=7 C |Ox+1l.y=7 D|0x+0.y=7
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Q.| vi_ .o
NG is equals to:
1 Vi1
A = (3-2v2) B C (3-2v2 D | (3+2V2
2 3+2V2 ( ) ( )
Answers
1 A 2 A 3 |C 4 | B
5 A 6 |D 7 |C 8 |D
» 9 A 10 A 11 A 12 | C
)
3 ) A
()
£ i) D
13 A 14 A 15 (A 16 iii) A
iv) C
V) D
i) C i) C i) B
i) A i) C i) B
17 i) C 18 i) A 19 iii) B 20 B
iv) C iv) C iv) A
V) A V) C V) B
21 A 22 D 23 A 24 B
25 C 26 D 27 A 28 A
29 B 30 A 31 A 32 B
33 C 34 B 35 D 36 C
37 A 38 D 39 B 40 D
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